SHTEE 7TA1T7EFTER B IR 67208
e
B |#EH ] TEFE HiER TR von=| 2| BE
1 e K5 AR < | x| x
14:40
2 | 303 304 Mk - REmE (4E~) B5 T&14 :40 ISR
PTA #s/ro—JL B6 2~6%15:25
B5 1~2%&14:40
3| K X X X
B6 3~6%£15:25
4| x B5 AR x | x| x
14:40
4F  BUEREHE #E (b -6
£ *a*%%?ﬁ4 _%%( FR) 55 1 ~3&14:40
5| & 54 BALEBERTRS (13:20~) B 6 s~6m15:25 | | "
Ly AR ]
6| 0| x X
7| B #£158 X X x
s | g A —&E R x|«
1 5% %5
—E TR
9 N BASRHAL B 4 X X X
@ ; ix 13:40
BARA — 2
10 % [ERN RS 54 H IR |«
O EHRE B 1 3§: 4¢Jo
] —E TR
11| K BAIBHKE B4 x | x| x
f _ iﬂ 13:40
1] 2« 1/\:_~E¢(K; 54 —&F MR o « o
PTA 43,8y ZEIR 13:40
13| + O10| O
14| B x | x| x
15| B mOH X X X
#1637 .
16| & PTA : #big/¢ b 0 — L A5 —HTH x | x| x
15:05
o “ N A5 1~2%15:05
17 | 7k 4 A EE [R2E] (FH) O]l O O
A6 3~6%£15:55
—E TR
18| & HELCRBRE  BERT A5 e 0*5 x| x| x
19| & g N % AR x| x| x
A= | 10:50
20| + PR » < =1
F RN
211 H X X X
=
22| A A O] O x
23| Xk o O] O x
10:30
24 | 7k X X X
ESEED
25 | i o|lo] x
e
26| & o ol o] x
10:30
20 £ X X X
28| H X X X
=
29| B A o|lo] x
10:30
30 | A X X X
=
a1l % EED) ololx
10:30
<SBADOEEZE> <8HADELFE>
(37 BEIZETSS 6 8 (k) 5EHIEL
E‘%fg; %ﬁmggﬁth 7B0K) SEBNED
&= KD K%l 35 A s .
#R) BELLRROBEDL 55 fgzﬁ%g;iﬂiha T#10:50
= 8 R Es RS 28 (A) ths 8 BOEREENCOWTIE, &
<a§%F_&H#A> 3E(K) HKERE | OWLEHETLEL A
17:15 6E(&) MR
Hika  8EH8 : 30~10:30 BB ZAS
T# 10:30 108 (0 OERES
128K BEREHES  BFERY
260 (k) RESEEEE

ob oo M R K S & B A 4 oo

o

T

DfF
~

e = B (O R e = SV S

oyl
52|

A A C



